» Langer & Laumann®

Montageanleitung
Assembly instructions

Umbau Selcom RCF1 ZT auf TSG V4
Conversion Selcom RCF1 CT to TSG V4

mbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 1/17



¥ Langer & Laumann’

Step 1 TSG montieren — assemble TSG drive

01.02.2021 1.20.92650_Umbauanleitung_TSG_Zuhaltemechanismus_V1.0 2/17



¥ Langer & Laumann’

Step 1a

D

Article No.  Description DE

Description EN

Quantity

220 | 01.20.60060 Kombiwinkel Hut TSG universal bracket, version "hat" 1
300 | 01.36.00135 Sperrzahnschraube DIN 5921 MEx12, 8.8, vz | Hexagon head sermated screw WNO274 A2C 8.8 - MEx12 | 4
470 | 08.20.40000 TS 400 Motor L Tvp K TEG 400 Motor Large Typ K 1

01.02.2021

1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf TSG_V3.0 3/17



» Langer & Laumann®

ID | Arlicle Mo. Descrption DE Descrption EN Cluantity
210 | 01 2060110 Spannlasche (Ur Spannslalion TG brackel for courter roller 1

230 | 01.206.60070 Winkel fir Spannstation s<hrmals Ausfihnng TSG universal bracket countsr side, slim design (35mm) | 1

280 | 01.20.80013 Halterung Limlenkrille filr Spannstation TSG bracket for counter roller 1

280 | (11.36.00115 Sachekantschraubs 1SQ 4017 - MExd - B8, vz | Hoxagonal bolt, thread up to hoad DINGES vz 8.8 - MBxdd | 2

310 | 01.38.00168 Federring DIMN127-A3-FSt Lock washer DHM127 vz - ME 1

330 | 01.36.00450 Kol lgelschaibe 8 42452 Winy repair washer HNS22 vz - 8 4x20x1, 25 2

340 | 01 .36.00501 Sperr-ahnmuller ME, DIN G333, v Serrgled locking nul, similar o DINEYZ3 vz - MEB 1

J60 | 01.38.00720 Spetrzahnschraube DIN 6921 MEx20, 8.8. vz Hexagon head serrated screw WHO274 A2C 8.8 - MEx20 | 2

420 | Reduzierhiilse fir Spannnlle Adapter slegve for flension roller 1

444 | Spannrall; Tengion rollcr 1
01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0

4/17



» Langer & Laumann®

Step 3a

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 5/17



» Langer & Laumann®

Step 3b

Aricle Mo.  Description DE Descripion EN

240 | 01.36.00501 Sperrzabnrmutter ME, DIN 53923, vz Serated locking nut. sirnilar to DINGS23 vz - M8 3

260 | 013800720 Sperrsahnschraubs CHN 6921 MEx20, 8 8. v+ | Hexagon head serraled screw WHND274 A20 3.8 - ME220 | 3
T

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 6/17



» Langer & Laumann®

Step 4a

I | Articla Mo, Dascription DE Dascription EM Quantity
210 | 01.20.60013 Halterung Umlenkralle fir Spannstation TS bracket for counter raller 1
200 | 013600115 Sechskantschraube 20 4017 - M8x4{ - £ 8, vz | Hexagonal bolt, thread up to head DIN933 vz 3.8 - Max40 | 1
310 | 01.36.0016%9 Federring DIN127-48-FS1 Lack washer DIN127 vz - M8 1
340 | 01.36.00501 Sperrzahnmutter ME, DIN 6923, vZ Serrated locking nut, similar to DINGSE23 vz - M8 1
4200 | Reduzierhiilse fir Spannrolle Adapter sleeve for t2nsion roller 1
440} | Spannrolls Tonsion rolier 1

01.02.2021

1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0

7/17



» Langer & Laumann®

Step 4b

I | Aricle No. Description DE Description EN Quantity
210 | 012060013 Halerung Umlenkrolle [Gr Spannslalion TEG brackel lor counter roller 1
240 | 01.20.60071 Winkel fiir 2% Spannstation. schmale Ausfihrung | Elbaw for 23 clamping station, thin version 1
250} | 01.20 601710 Spannlasche fiir Spannstation Clamping tab for clammping station, normal execution 1
2901 | D1.26.00115 Sechskantschraobe (SO 4017 - MExd) - 8.2, vz | Hoxaganal bolt, thread up to haad DIM3E3 vz £.8 - MBxad | 2
310 | 01.36.00168 Federring DIM127-AB-F5t Lock wazher DIM127 vz - M8 1
330 | 01.36.00450 Keotillgelscheibe 8 4x2dx2 Wing repair washer DIN522 vz - 8. 4x20x1,25 2
340 | 01.36.00501 Sperrzahnmuller ME, DIM 5923, vz Serraled locking nul, similar lo DINSYZ23 vz - W& 1
360 | 01.26.00720 Sperrzahnschraube DIN 6921 M8x20, 8.8, v2 Hexagon heatl serrated screw WHO2Td AZC 8.8 - Maxa0 | 2
420} | Reduzierhilse fiir Spannrolle Adapler slegve for fansion roller 1
44} | Spannrollc Tchsion rallcr 1
01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0

8/17



» Langer & Laumann’

Step 4c

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 9/17



» Langer & Laumann®

Step 4d

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 10/17



¥ Langer & Laumann’

Step 4e

Langlocher
waagerecht zum
Kampfer ausrichten
und Bohrungen
markieren

level elongated holes
horizontaly to frame
and mark drill holes

Article Mo, Description DE Diesoription EN Cuantity
2400 | 012060071 Winkel filr 2% Spannstaticn, schmalc Aosfiihrun Bracket for 2x clamping station, thin vorsion | 1

01.02.2021 1.20.92650_Umbauanleitung_TSG_Zuhaltemechanismus_V1.0 11/17



» Langer & Laumann®

Step 4f

O
O

7

01.02.2021 1.20.92650_Umbauanleitung_TSG_Zuhaltemechanismus_V1.0 12/17



» Langer & Laumann’

Step 4g

Aricle Mo. Description DE Description EN
01.36.00501 Sperrzabnmuller M8, DIM G923, vz Serraled locking nul. similar o DHMGES23 vz - MS
01.38.00720 Sperrzahnschraubs DIN 6921 MEx20, 8.8, vz | Hexagen head serrated screw YWHNOZ74 420 B8 - MEx20

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf TSG_V3.0 13/17



» Langer & Laumann®

Step 5

01.02.2021

1D | Article Ng.  Dascription DE Dascription EN

{Juantity

360 | 01.36.00720 Sperzshnschraube OIM BY21 Méx20, 8.8, vz | Hoxagon hoad sorrated scrow WHOZ274 A20 48 - MEx20

1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0

2

14 /17



» Langer & Laumann®

Step 6 Zahnriemen spannen — fasten timing belt

7S .- '
~\\$” _\).
e :
e :‘)/e»
‘ >
.(,I
h oY

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 15/17



¥ Langer & Laumann’

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 16/17



» Langer & Laumann®

Langer & Laumann Ingenieurbiiro GmbH
Wilmsberger Weg 8

48565 Steinfurt

Germany

'e) Tel.: +49 (2552) 92791 0
o

support@Iul-ing.de
www.lul-ing.de

01.02.2021 1.20.91906_Umbauanleitung_Selcom_RCF1_ZT_auf_TSG_V3.0 17 /17



